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£AM: B
B FUHE MR
o9 SSH pEHe (298 R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ORooALZI| CCTVERI(HEE2S)
1,000,000& = 1CH 1,000
405 RHoHF S HI 20,000 0 20,000
01 AL EZFH S 20,000 0 20,000
ORololAL3I(¥E28) 20,000,000 *1CH 20,000
oS 25,757 16,865 8,892
= 25,757
101 1A Hl 18,307 16,364 1,943
= 18,307
4 JI2ZHZEXNSES 18,307 16,364 1,943
OAZSetl & e Ry 18,307
>olEs 39,5003 x 121 %250 9,875
= 9,875
D&z 9,875,000& »121%4/12 3,292
= 3,292
PEsd 39,5003 191 «x52 2,054
= 2,054
POEXRESItrE 39,5003 «1021+15& 593
= 593
> = Al 50,000& =12 «12& 600
= 600
>us2 L 50,0003 «121x12& 600
= 600
D=odzafdga 17,014,000 *121+4.5/100 766
= 766
DICALEEZ  17,014,000& x121%2.9/100 494
= 494
PEIQAEER 493,310 x121%6.55/100 33
= 33
201 LB-2EH| 7,450 501 6,949
= 7,450
01 At 22l 7,450 501 6,949
O1 et==2Hl 7,450
PHALS MRES 2,750,000 » 14! 2,750
= 2,750
DOHERSIIZ2 22 CHHEX
65,0003 102 A 650
= 650
DOHAE S REESE 350& *3,0000H 1,050
= 1,050
DEXOZE HHME 2002 x15,00004 3,000
= 3,000
IES2HSEARAEA 44,821 41,873 2,948
= 44,821
101 @14 Hl 18,307 16,364 1,943
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Sl SSX oIRFH 2 (sl &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 18,307
M4 D122 E2EXNEES 18,307 16,364 1,943
OXNE2H =724 & LINE WA 18,307
>olEas 39,5003 x 121 %250 9,875
= 9,875
D&z 9,875,000& »121%4/12 3,292
= 3,292
DEFY 39,5003 *1Q1 52 2,054
= 2,054
PAXSSRFI=E 39,5003 10115 593
= 593
> = Al 50,000& =121 «12& 600
= 600
> uw S8 XH| 50,000 «121x12& 600
= 600
D=odzafdgza  17,014,0002 *121+4.5/100 766
= 766
DROHAEBEE  17,014,000& *121%2.9/100 494
= 494
DEIIRQAEER 493,410 #121%6.55/100 33
= 33
201 LBr2EH| 22,914 21,909 1,005
= 22,914
01 At 22l 22,914 21,909 1,005
O1 get==2Hl 22,914
DIOtES2H HRFL =84 22,914
o= 14,279,000& 14 14,279
= 14,279
OAHcHH 594,000& x 14! 594
= 594
ozY%=s 1,866,000& 14 1,866
= 1,866
oOf&d 723,000& x 14! 723
= 723
OAxH 1,001,000& 14 1,001
= 1,001
ougH 671,000& » 14! 671
= 671
OXNEH 715,000& » 14! 715
= 715
ousd 1,211,000& =14 1,211
= 1,211
OsMH 927,000 » 14! 927
= 927
osgd 927,000 14! 927
= 927
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SH-HH . B(SH) - HBAMY - B2 il 2
202 0db] 3,600 3,600 0
= 3,600
01 2LHOHI 3,600 3,600 0
OArE =804 4| 300,000& x12& 3,600
= 3,600
A5 MES QIR (SHISAA) 6,952 6,232 720
201 LEr2 Y| 4,792 4,792 0
01 AR 22| bl 2,192 2,192 0
O1 etx=2H| 1,640
DFOUSESE=2 22X 26,000& x20B0OX 520
>olZsyg €= 64,0003 *10BOX 640
DEASX(MZSY L2 S) 24,000 *20B0X 480
O6 Xtz 552
DEfI ME LU 46,0003 *1CHx12& 552
02 33294l 2,600 2,600 0
O3 A& &8l ®AX4I 2,600
>OIEI RANEx 300,000& *=1CH 300
DOALII(ZRH) SN2
50,0003 *3CH x12& 1,800
DA SANE 500,000& =10H 500
202 04| 2,160 1,440 720
01 2L YI 2,160 1,440 720
OolAs & &ol 180,000& *12& 2,160
EEERL 6,380 7,080 AT00
202 O B 2,880 2,880 0
01 2L Y| 2,880 2,880 0
OWALZ =& ol 240,000& x12& 2,880
405 XH&HFE SHI 3,500 1,000 2,500
01 JHMY =2 ZF SHI 3,500 1,000 2,500
OREESE 3,500, 000& = 1CH 3,500
DIRA BH TN 49,448 47,900 1,548
OIRA B A 49,448 47,900 1,548
201 Yot 2 Y| 49,448 47,900 1,548
01 At 22l bl 33,500 33,500 0
O1 Yer4gH| 8,500
Dol BFMH(sE Bl
2,500, 0002 * 14 2,500
DOololz OlE Y JtH HAIID| ARE(E
H s) 450,000 x12& 5,400
DOIROIE T AT 50,000& x12& 600
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O4 W=t 25,000
POAMAIL RIS (5HS2) T (DY
NS0, 223, X & D) 250,000 5001 x23] 25,000
02 22| 15,948 14,400 1,548
O2 o2 1,548
PRRA USE 25 7Y
1,343 *x20H *8A| 2F*72L 1,548
O3 A& &H| X4l 14,400
>ololz oIy JtH Y9I SXEX=(P
C 4CH/ Z=2lEHDl 1, =8| 20H)
400,000 12€ 4,800
DOolAl =0 QX244 800,000 x12& 9,600
HAE2H A 107,970 108, 124 A 154
ol Y| (21 1tH) 48,314 48,468 N 154
ol =AY 48,314 48,468 A 154
101 2121 H] 48,314 48,468 A 154
01 2= 48,314 48,468 A 154
OAZte 22+ 8,4763 1921 x300A| 2+ 48,314
Jl22Z 4 (212 H) 59,656 59,656 0
Jl2 &4l 59,656 59,656 0
201 Yet2 Y| 41,536 41,536 0
01 AP 2t 2] H| 26,296 26,296 0
O1 Let=24| 23,104
DENS2YE =24 23,104,000& = 14! 23,104
Ob S &l 3,192
DOof2t. 5422 7,000 x190Q1%x23| x12& 3,192
02 Z2=2=24%4| 15,240 15,240 0
O1 222 2 HA 6,300
DO XA RES 1,750 3004 ~12& 6,300
O3 AIE&H| RXHI 8,940
D>AFRIID] RAIE£H| 745,000 x12& 8,940
202 o4 H| 13,920 13,920 0
01 2L I 13,920 13,920 0
OJle g24d odl 1,160,000 x12& 13,920
203 &R T Y| 4,200 4,200 0
04 EASHEIRFAH| 4,200 4,200 0
OFMNSI LR 350,000 x12& 4,200




